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5250 250=0.05x5000 5000 1
5512.5 262.5=0.05x5250 5250 2
5788.125 275.625=0.05x5512.5 5512.5 3
6077.53 289.41=0.05x5788.125 5788.125 4
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C4=6077.53 z»
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1=6077.53-5000=1077.53 -
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1=250+262.5+275.625+289.41=1077.53 z=
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C,=C(1+i)"=C, =5000(1.05)*
LogC, = Log5000+ Log(1.05)* = LogC, = Log5000+47L0g(1.05)

Log(C, =3.69897+4(0.0211893 =3.7837272
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C,=C(+i)"=>, =5000(1+0.05)" = 5000(1.21550625)

C, =6077.53 #isas
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C,=C(1+i)"=C, =5000(1.05)% = 5000(1.1025) = 5512.5 zType equation here.
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I=C,—C=>]=6077.53—5000 =

1077.53 &sisans
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I =C[A+1" =11 =5000{(1+0.05)* —1] =5000[1.21550625—1]

=1077.53%8i52a,
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C, = C(1+ 1" = Cyy = 5000(1.05)!2 = 5000(1.795856326) = 8979.28 2
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C ,=CA+D"1+D2 = 6000(1.04)°(1.04)12
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C3+L = 6000(1,124864)(1,023142475) = 6905,38 -
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C = 6000(1,124864) + 6000(1,124864) ——-— = 6906, 66 >
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C,, = 844172
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C=C,(+)"=> C=8441(1.02)"" => C =8441(1.02) ' > C =8441(0.8203483)
C = 6924 567>
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Ca + Cg = 300000 .....1
CA+D™  C(1.04)7 C, 5

5 5
= = === (C, ==C5(1.04)3 = = (1.124864)C; = 1.87477333C
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C, = 1.87477333Cy .....2
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= 104356.05 ¢»

300000

1.87477333Cp + Cp = 300000 = Cp = o0 o

C, = 300000 — 104356.05 = 195643.95 ¢z
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C, =3936.6=>
C=3125=0>

LogC, —LogC
(Foess) _ =>

( TLog(3936.6)—Tozs(3125)

3.59512129-3 . 49485002 . o
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C 3936 .6
1+i)'=—2c=(1+i) = —/——=1.259712
( ) C ( ) 3125
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A+iy =S (144)° = 839295 1 40384821

C 5600
AL 5 ean Y Lls <l i 9 Jilis (530 Lland) sie 1 a8, ) Jsaadl L3 o) Gacdll Jeala e Caaddl die
fsb LaS 30l Jama Sy} (S

C
(i, =)< (—*—x,) — 1 0.045
BT Ce T, (oars 0085 )x (1493848214 148609514
(x, —x,) (1.5184003 13— 1.48609514)
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=1.49923309
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_LogG, ~LogC _ Log(3677169)~Log(24527) _ 0.17586916_———
Log(1+1i) Log(1+0.0375) 0.01598811
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C = 32000 &>
C, = 48593 95z

i=3.5%
C 48593 .95
1+i)" = —2 —>(1.035)" = "2 —1.51856094
( ) C ( ) 32000
C,
_ C _x2j><360 ;- (1.51856094 —1.511068657 )= 360
J = (x, — x,) = - (1.56395606 —1.511068657 )
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